Exercise 1

Interrogation 5

Stéphane Devismes

Démontrez les formules suivantes en déduction naturelle au premier ordre :
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Answer:

1. Jz(P(z) = Q(z)) A

—JzQ(x) = —VzP(z)
y)))

Y))

-3zQ(x) = —~VaP(x)

contexte | numéro | preuve regle
1 1 Supposons Jz(P(x) = Q(z)) A -FzQ(x)
1,2 2 Supposons VzP(x)
1,2 3 Jz(P(z) = Q(z)) AE1 1
1,2 4 —3JzQ(x) ANE2 1
1,2,5 5 Supposons P(z) = Q(z)
125 6 P(z) VE 2.x
1,2,5 7 Q(z) =E 5,6
1,2,5 8 JzQ(x) dI 7,x
1,2,5 9 1 =E 48
1,2 10 Donc (P(z) = Q(z)) = L =159
1.2 11 T 3E 3,10
1 12 Donc —VaP(x) =12,11
13 Donc Jz(P(x) = Q(x)) A -FxQ(x) = —~VzP(z) | =1 1,12
2. Va(P(x) = Vy(=P(y) = ~(z = y)))
contexte | numéro | preuve regle
1 1 Supposons P(x)
1,2 2 Supposons —P(y)
1,2,3 3 Supposons =y
1,2,3 4 P(y) congruence 3,1
123 5 T —E 24
1,2 6 Donc —(z = y) =135
1 7 Donc =P (y) = —(z =vy) =126
1 8 Vy(=P(y) = ~(z =y)) vI7
9 Donc P(x) = Vy(-P(y) = ~(z =y)) | =118
10 Va(P(x) = VYy(-P(y) = ~(xr=1y))) | VI9

3. dx(P(x) A—P(x)) = VzP(x)




contexte | numéro | preuve regle
1 1 Supposons Jz(P(x) A —~P(x))
1,2 2 Supposons P(x) A ~P(x)
12 3 P(z) ABL 2
1,2 1 ~P() AE2 2
1,2 5 T =F 34
1,2 6 VaP(x) Efq
1 7 Donc (P(xz) A —P(x)) = VzP(z) =126
1 8 Ve P(x) JE7
9 Donc Jz(P(x) A—P(x)) = VzP(z) | =118
4. VaVy(Fz(z =z ANz =y) = (x =v))
contexte | numéro | preuve regle
1 1 Supposons 3z(z =2 Az =y)
1,2 2 Supposons (x =z Az =)
1,2 3 T=2z AE1L 2
1.2 4 Z—y AE2 2
1,2 5 rx=y congruence 4,3
1 6 Donc (x=zAz=y)= (xr=y) =125
1 7 =y JE 1,6
8 Donc Iz(x =zAz=y)=(x=y) |=117
9 Vy(Fz(z=2zNz=y)= (x=1y)) VI 8
10 VaVy(Fz(z =2Az=y)=(z=y)) | VIO
5. Ve P(z,z) = VYa3zP(z, x)
contexte | numéro | preuve regle
1 1 Supposons 32V P(z,x)
1,2 2 Supposons VzP(z, )
1,2 3 P(z,u) VE 2, u
1,2 4 JzP(z,u) a3, 2
1,2 5 YudzP(z,u) VI 4
1,2 6 Va3dzP(z,x) copie de 5
1 7 VaP(z,x) = VeIzP(z,x) =126
1 8 VadzP(z, ) JE 1,7
9 Ve P(z,x) = Va3zP(z,z) | =118




